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40 X 3 =

254 + 37 =
30, 60,
3 X 56 =

36 + = /8
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Preblem of the doy
Match the input numhbers to the

output rumbers.

3 Add 4 26
v

6 Multiply by 4 3 6
v

[0 56

Subtract 6

v

22

Output
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/70 X 3 =
167 + 25
30,
L X I8 =

|15 +

q0

= 57
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Preblem of the dday
Match the input numbers to the

output numbers.

Add 4
v

Multiply by 4
v

Subtract 6
v

L2
34
|8

22



Spr 1 wk 6.notebook January 05, 2021

Five in 5 ®

Preblem of the dday

Match the input numbers to the
'LO_"Z"'Z"' output numbers.
femete ]
. 80 X 3 = 7 Subtract 4 [I-O
v
2. 217 + 45 =
6 Add 2 25
3. 60, 90, v
L., 4 X 46 = 10 Multiply by 5 5
v
5. 24+ =66 O 20
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11.2.21 Proeblem of the day
Match the input numbers to the
Arithmetic output numbers
Lo B
2. 16 + 24 = q Subtract 4 ,5
v
3. 30, 60, 5 —— 75
v
L, 6 X 32 =
|2 | 50
5. 76 + = 100 Multlp¢yby5
/ 35
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0 X 9 =
120 + 36 =
60, 90,
2 X 74 =

38 + = 50

8
L
[
| 4
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Preblem of the doy
Match the input numhbers to the

output numbers.

Subtract 4
v

Add 2
v

Multiply by 5
v

10,

60
L5
30
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Add 4 Subtract 4
v v
Multiply by 4 Add 2
v v
Subtract 6 Multiply by 5
v v

January 05, 2021
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